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BODQ

( Major )

^ Paper : 2.2

• Full Marks : 80

' Time : 3 hours

The figures in the margin indicate fall marks
for the questions

, • Answer in Bode

1. 1^':
1x10=10

(•^) fki

(^) e^fq^Td% "ytol ^fH^ilcOPl -g I

(B) (PipHt^)

(b) ^ BT^?

(^) BwM %T 8 ^ ^cJT^?

(B) g fkl

("0) a^tf^ B%BTBT BTf! Wm #fKt?
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(it) ^rTtfr^aM id^wU fel •.^^,
(^) 73^TT#i ttT^ ^HrrlNW "^T^

2. 'II^I-mPi THlt^i4^1<y1 ^ant %T : 2x5=10

("^) Tft^ STTTt th TTT?

(^) STift tttsbRb-MK 1^) I

('̂ ) Wft TOT 1TT?

(^) arcichiifn 3tit Tfr#!n ^?

(^) TOirrf^ t^tTTO^ I

3. TOTTO itro^TrPT TOfw-^n^ ift^ ^ ^ : 5x4=20'

(^) ^TOT^'^

(^) TOT "41?

(tt) (#m iro)- 3TcT4TTTl ttt?

(^) ^^T^TTTO ^(TTOWtTOI

(^) ST^.in?

(^) ^ (TO)

4. 4T 4T trlTO 1^ I 10

TOTOlf^ ^^T^ PlPi<Rin.4ilj.Pj TOf^-TOT TTT^
/•• t1i<4<aHH l^yl<PT 1%ft4Tf4 "^1 5+5=10
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5. wft TOT 3mt "m "RT HlM

TOll^ 1^1 • 10

^Hdl^Pl 1^ #^TOT ^ #Rl 10

6. ^Td'+iKI (^riTOT) ^? TTTO^ rIh^PI
- 10

1^91

3T^T^ TTT? ^

I

TTTO^ ifR^

10

7. TOR T7T ffefr? ^ <mA
10

TOfe-TOT ^ -f^ ; ^ 5x2=10
Rfrofi^RTO ; %Tlt TO ; R^TO ; ^^TOI

'k if ic

• . . ; V-'
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